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Trigonometric identities and equations 10B

1

a

sin135° = +sin45°
(135° is in the second quadrant

at 45° to the horizontal.)

2

So sin135°=—
2

sin(—60)° = —sin 60°
(-60° is in the fourth quadrant
at 60° to the horizontal.)

3

So sin(—60°) = —

sin 330° = —sin 30°
(330° is in the fourth quadrant

at 30° to the horizontal.)

So sin330° = —%

sin420° = +sin60°
(on second revolution)

Ne

So sin420°=—
2

sin(—300°) = +5in 60°
(—300¢ is in the first quadrant
at 60° to the horizontal.)

So sin(-300°) = %

€0s120° = —cos60°
(220¢ is in the second quadrant

at 60° to the horizontal.)
So c0s120° = —%

c0s300° = +cos60°
(300° is in the fourth quadrant

at 60° to the horizontal.)
So c0s300° = %

h

SolutionBank

C0S 225° = —c0s45°
(225° is in the third quadrant

at 45° to the horizontal.)

2

S0 €c0s225° = ——
2

cos(—210°) =—cos30°
(-210° is in the second quadrant
at 30° to the horizontal.)

Ve

So cos(—210°) = Y

€0S495° = —c0s45°
(495° is in the second quadrant

at 45° to the horizontal.)

V2

So c0s495° = -——
2

tan135° = —tan 45°
(235° is in the second quadrant

at 45° to the horizontal.)
So tan135°=-1

tan (—225°) = —tan 45°

(—225° is in the second quadrant
at 45° to the horizontal.)

So tan(-225°)=-1

tan 210° = +tan 30°
(210¢ is in the third quadrant

at 30° to the horizontal.)

3

So tan210°=—
3

tan 300° = —tan 60°
(300° is in the fourth quadrant

at 60° to the horizontal.)
So tan300° = —/3

tan (—120°) = +tan 60°
(-=120° is in the third quadrant
at 60° to the horizontal.)

So tan(-120°)=+/3
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Challenge
a i tan30°= 1 b Angle BCD =45°-30° =15
CE
= L c i sinlh°= bB
tan 30° CD
"5 52
V3 2
3
= 3 ii cos15°= BC
NE cD
_ 33 _ \/2+\/§
3 >
=3
Il Using Pythagoras’ theorem
CD?=124+3°
CD=+1+3
CDh=2

Il Using Pythagoras’ theorem on the
isosceles triangle ABC

AB2 + BC? = (1++/3)?
AB = BC s0 BC? + BC? = (1++/3)?
2BC2= 4+24/3

BC2=2++/3

BC = v2+3

iv DB =AB — AD
Using Pythagoras' theorem

AD = V12 +71°
=2
DB = 2++3 -2
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